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Mathematics Mega Quiz For RRB NTPC

Q1. A manufacturer sells an article to a wholesale dealer at a profit of 10%. The wholesale dealer
sells it to a shopkeeper at 20% profit. The shop-keeper sells it to a customer for Rs 56,100 at a
loss of 15%. Then the cost price of the article to the manufacturer is

T At @& 9w S : & a6 10% F ATH 9 99d7 8. A 1A 6 20% F AT I Toh FHARM HT
IAT §. THEI T 15% Fit W 9K 56,100 TI | TF ATg F 99dT 8.7 MATAT & [ a8 F7T A0 4
E G

(a) Rs. 25,000

(b) Rs. 10,000

(c) Rs. 50,000

(d) Rs. 55,000

Q2. A loss of 19% gets converted into a profit of 17% when the selling price is increased by Rs.
162. The cost price of the article is

19% it T, 17% % AT § qRafda I et §, St v o7 7 162 =. &t g F S |1 S« &g AT 77

ERERIEY
(a) Rs. 450
(b) Rs. 600
(c) Rs. 360
(d) Rs. 540

Q3. A man purchased 150 pens at the rate of Rs. 12 per pen. He sold 50 pens at a gain of 10%. The
percentage gain at which he must sell the remaining pens so as to gain 15% on the whole outlay is

T AEHT 7 12 T3 93 39 7 3T T 150 39 @R, 399 50 I 10% F 9w 9= 99 Ru. 3¢ aw 47 raw
AT T I S=9 AR qTMH SH L AT T 15% FT ATH gIAA g1 T,

(@) 215%
(b) 20%
(€) 17%
(d) 175%

6 Months Subscription
Q4. A dealer sold two types of goods for Rs. 10,000 each. On one

of them, he lost 20% and on the other he gained 20%. His gain
or loss per cent in the entire transaction was

R T R Lt PRR NTPC
S 20% FY I FIAT § T T I I/ 20% FATH ITH GHIT. FH A9a

F IFHT AT AT gT wfer e @ - SUPREME

(a) 2% loss/ BT+
(b) 2% gain/ SITH
(c) 4% gain/ 9
(d) 4% loss/ BT+
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Q5. The cost price of 40 articles is the same as the selling price of 25 articles. Find the gain per
cent.

40 TEGEH T FF ToF 25 TEEN & (AT o & AT §. ATH TTIT AT o ?

(a) 65%

(b) 60%

(c) 15%

(d) 75%

Q6. A sells an article to B making a profit of 1/5 of his outlay. B sells it to C, gaining 20%. If C sells it
for Rs. 600 and incurs a loss of 1/6 of his outlay, the cost price of A is

A Tt T &1 B %1 99T g Sl S =49 9 39 1/5 T ATH ITH §ol. B I/ C F 99 3T &, 3 20% T AT
ITH AT . s C SH 600 TIT § 99T § i H 47 9 1/6 i T FieiT 5, A FT 77 o FAT 8?2

(a) Rs. 600

(b) Rs. 500

(c) Rs. 720

(d) Rs. 800

Q7. A man has a certain amount with him. He spent 20% of that to buy an article and 5% of the
remaining on transport. Then he gifted Rs. 120. If he is left with Rs. 1,400, the amount he spent on
transport is

TS AEHT & I T [Afa Ofdr §. S99 U a5q @daq & ™7 20% i< a9 71 5% Iias 1 @ 41, fhe
G 120 IT ITFR < RU. 3R ST 119 19 1400 €T AW g, a7 TREAZT I @H it TS T 747 g2

(a) Rs. 76

(b) Rs. 61

(c) Rs. 95

(d) Rs. 80

Q8. The population of a town is 3,11,250. The ratio of women to men is 43 : 40. If there are 24%
literate among men and 8% literate among women, the total number of literate persons in the
town is

T AT 6l STAEEAT 3, 11, 250 §. ATRATSAT 3T TN T ATUTT 43 : 40 B. T 24% Tow fafera g i< 8%
HigeTd farfer § av g # Rrfer sfveat f 3o dewm €

(a) 41,800

(b) 48,900

(c) 56,800

(d) 99,600

Q9. In an examination, 52% of the candidates failed in English and 42% failed in Mathematics. If
17% failed in both the subjects, then the percentage of candidates, who passed in both the
subjects, was

T T |, 52% F1 ST § 3 429% 7o § dqdiol WA . I 17% 41 et § srgdior @, 9 =t
fawrt 7 S<fiof g #1 widea faat g2
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(a) 23
(b) 21
(c) 25
(d) 22

RRB NTPC STAGE-I

Q10. In an election there were only two candidates. One of the 25 Previous Year Papers
candidates secured 40% of votes and is defeated by the other
candidate by 298 votes. The total number of votes polled is

TH AT | Hae T SHIEAR T, TH ITHITER 7 40% Fie T 7 i
TAX SEEAR 7 298 i & I g w< 3T, qasm g 1w aiEr
& T GEAqT 87

(a) 745

(b) 1460

(c) 1490

(d) 1500

Online Test Series

Q11. At a point on a horizontal line through the base of a monument, the angle of elevation of the

top of the monument is found to be such that its tangent is 1/5. On walking 138 metres towards

the monument the secant of the angle of elevation is found to be %. The height, of the monument

(in metre) is.

T T & e q s a1 9= oo v {63 & & & o 7 S 07 39 TH1< I0T SArar & o gaehr
TILSAT 1/5 1 TATG i A 138 Hie A 9L ST aﬁwﬁaﬁﬁw%wﬁaﬁ% TG i ST (HIe
#) §:

(a) 35

(b) 49

(c) 42

(d) 56

Q12. The angles of elevation of the top of a tower from two points A and B lying on the horizontal
through the foot of the tower are respectively 15° and 30°. If A and B are on the same side of the
tower and AB = 48 metre, then the height of the tower is:

T A & U ¥ S Yar w fug & ot A 9 B & @< & it & S+ o swwen: 15° 3 30° €| 3l A
T B, T(EX St GHTF QAT H B, i< AB = 48 g, A a1a< il HATs 7471 87

(a) 24V3 metre/ 243 |t

(b) 24 metre/ 24 H¥

(c) 24 V2 metre/ 24 V2 Ht

(d) 96 metre / 96 |t
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Q13. The angles of elevation of the top of a building from the top and bottom of a tree are x and y
respectively. If the height of the tree is h metre, then, in metre, the height of the building is.

TF 95 ¥ ofif i ug ¥ TF THIRG F ST A7 /A X 3T Y 1 TR 9z fir S H e &, O fe §,
TATA it FATE gl

h cotax

(a) cotx—coty
hecoty
(b) cotx+coty
h cotx
(C) coty+coty
heotx
(d) cotx+coty

Q14. If the angle of elevation of the Sun changes from 30° to 45°, the length of the shadow of a
pillar decreases by 20 metres. The height of the pillar is.

afe g %71 9w Fior 30 AT F 45 Rft saa smar &, I v @W H grEr f d9rE 20 fieX qF g9 At f)
g At FATE B

(a) 20(v3 —1)m/ 20(v3 — 1)#T

(b) 20(v3 + 1) m/ 20(V3 + 1)#T

(¢) 10(V3 — 1) m/10(v/3 — 1)

(d) 10(¥3 + 1)m/10(V3 + 1)#T

Q15. There are two vertical posts, one on each side of road, just opposite to each other. One post is
108 metre high. From the top of this post, the angles of depression of the top and foot of the other
post are 30° and 60° respectively. The height of the other post, in metre is.

SH & QA1 (HA1Y I T qaX & AT & daaq 7 §. T T 108 HieT ST 81 30 9iee & i 9, ofd
T FAAAIT HI0T TAL TS % & &l A9 o7 i wwer: 30 =t sfix 60 f=R3ft g1 diex & gox e &t F=1s
2

(a) 36

(b) 72

(c) 108

(d) 110

Q16. Two poles of equal heights are standing opposite to each
other on either side of a road which is 100 m wide. From a point RRB NTPc 2019

between them on road, angles of elevation of their tops are 30° PRIM E PACKAGE

and 60°. The height of each pole in metre, in

THT HHATS AT & [ T EX & [0 d TH 8% & Qi a<F @8 g ST 100 + TOTAL TESTS
100 HieT ST 3. GSF I S a9 TF {43 &, I o & I:7q Fror
30 f=ft 3z 60 =3l §. = g it F=re Hied ®§ 1 F4.

40 Full Length Mocks

N; 30 Section Wise Tests
E;)) i?) \/i 10 Previous Years papers
(c) 28V3 20 +Topic Wise tests
(d) 30V3 eBooks
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Q17. The angles of elevation of the top of a building and the top of the chimney on the proof of the
building from a point on the ground are x and 45° respectively. The height of building is h metre.
Then the height of the chimney, in metre, is :

TARE & Y F 3% i+ F fog & T9a & g9 7 Rmet F T F I9ae For Faer: X $i7 45 =€) e
&t FATE H Hiex {1 v Rt i S=mE e 7, &

(@)hcotx+h

(b)hcotx-h

(c)htanx-h

(dyhtanx+h

Q18. The angles of elevation of the top of a tower from a point A on the ground is 30°. On moving a
distance of 20 metres towards the foot of the tower to a point B, the angle of elevation increases to
60°. The height of the tower is

SHI 92 TF g A § TF 217 & oftd & Soae sy 30 foft 1 2faw & 93 fit avw 20 Hiex ff @ w U= &g
B T ST U, 399 107 60 Rft a7 Srar {1 ere fr S |

() V(3)m/V(3) T

(b) 5vV3 m/ 5V3 Y

(c) 10v3 m/ 10V3 |t

(d) 20v3 m/ 20v3 |t

Q19. A telegraph post is bent at a point above the ground due to storm. Its top just meets the
ground at a distance of 8+/3 metres from its foot and makes an angle of 30°, then the height of the
postis

T SARITH TS THIT F I TH & HUT T &g 9 g gar g1 07 A 5wt & & & b 84/3 #iex
i g 9 Herar @i 30 =t 1 o7 s97ar §, A e it ST g

(a) 16 m/ 16 ¥

(b) 23 m/ 23 |t

(c) 24 m/ 24 #t

(d) 10 m/ 10 |t

Q20. A ladder is resisting a wall at a height of 10 m. if the ladder is inclined with the ground at an
angle of 30°, then the distance of the foot of the ladder from the wall is

T gl I aX 10 HieT it FA1E 9 wht g3 gl I Agr i & arer 30 Bft Fwor e gefr g, v A &
T FIRArgh e

(@) %mr’ L—; Hr
a W W
) %mf j—i Hr

(c) 10v3m/ 103 &1
(d) 20V3m/ 20V3 AT
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Q21. Factorise x? +.3x -}8 TEST SERIES
x% + 3 -18 FT [UAEE FX Bilingual

(a) (x+18) (x+1)
(b) (x+1)(x+18)

@ (+6)03) RRBNTPC
e PREMIUM

Q22. Rohit walks at 17 km/hr and Ruchira cycles at 22 km/hr 100+ TOTAL TESTS
towards each other. What was the distance between them when
they started if they meet after 44 minutes?

Afga 17 @.Hi/Eer ) =«@r § s qrr 22 i ) astea
FAT § X 9 T X & A 98 @ §. AT 98 44 e 912 7 @1 & Bea € av s § 59 7 &
et of1?

(a) 42.9 km/ et

(b) 35.8 km/ ffy

(c) 21.5 km/ foFfy

(d) 28.6 km/fFHT

Validity : 12 Months

Q23. If sum of the roots of a quadratic equation is -7 and product of the roots is 12. Find the
quadratic equation.

g2 feema gefis<er F 9o &7 TRT -7 § 3% g 7 [orasar 12 2. fae=ma gt s fifvm)
(@)x*+7x+12=0

(b)x*-7x+12=0

()x*-7x-12=0

(d)x*+7x-12=0

Q24. 20% discount is offered on an item. By applying a promo code the customer wins 10% cash
back. What is the effective discount?

T aTE] 9T 20% & Fe & SATAT |, TH T IS TR I FEEAT T 10% H<T S AT 1T 3. TATAT Fe 74T
&2

(a) 30.8 percent/Jfaera

(b) 30 percent/STaerd

(c) 12 percent/gfaera

(d) 28 percent/afaera

Q25. Reduce 2530/1430 to lowest terms.
2530/1430 F <[AIH TSI T FH KT,
(a) 47/17

(b) 23/13

(c)47/19

(d) 29/17
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Q26.1f5x -3 =23 + x/2 and 4x - 2 < 6 + x; then x can take which of the following values?
qfe 5x-3 23 +x/2 MV 4x - 2 < 6 + x; A1 ATATET & F x F7T 49 TT9 FL.

(@1

(b) 2

(c)-1

(d) -2

Q27. The first and last terms of an arithmetic progression are 32 and -43. If the sum of the series
is -88, then it has how many terms?

T SO ST T TZAT 3T Sy 9g 32 ¥ -43 §. I s@ar &7 TR7 -88 §, A7 39H fohaw 1w &7

(a) 16

(b) 15

(c)17

(d) 14

Q28. The difference between simple and compound interests compounded annually on a certain
sum of money for 2 years at 18% per annum is Rs 81. The sumis___ .

2 ut & g 18% wfa arfts it 3w & Ffsm afdr o<, s g ara aremor six =wafs sae & fiw v
AT 81 T §. TNT AT §?

(a) Rs 2500

(b) Rs 5000

(c) Rs 10000

(d) Rs 7500

Q29. In what ratio is the segment joining (12, -1) and (-3, 4) divided by the Y axis?
(12, -1) 3fiX (-3, 4) T AT AT Y@TEE & Y 3 36 srqama § fasarfora <t 82

(a) 4:1

(b) 1:4

(c) 4:3

(d) 3:4

Q30. The line passing through (4,3) and (y,0) is parallel to the
line passing through (-1,-2) and (3,0). Find y? C R AS H C 0 U R S E

(4,3) 3T (y,0) ¥ T aTeY @ (-1,-2) 3T (3,0) F o aredt Yan SLEBAEH

O
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